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Follow guidance
from NEBMC and
Mational Blood
Shortage Plan

Patient needing or
predicted to need
massive transfusion

NO —

YES

b

General Exclusion Criteria:
A.  Severe burns of patient with any 2 of the following:
i. Age>60yrs
ii. =>60% of total body surface area affected
iii. Inhalation injury requiring mechanical ventilation
Cardiac arrest
Advanced, progressive baseline cognitive impairment
Advanced, progressive untreatable neuromuscular disease
Metastatic malignant disease with expected survival less than 6 months
Advanced and irreversible immunocompromise
Severe and irreversible acute neurologic event or condition
End-stage organ failure meeting the following criteria:
i. Heart—NYHA class Il or IV heart failure

TOmMmyNw

pressure > 50mmHg

ii. Lungs— COPD with FEV1 < 25% predicted, baseline PaO2
< 55mmHg, or secondary pulmonary hypertension; Cystic fibrosis
with post-bronchdilator FEV1 < 30% or baseline Pa02 < 55mmHg;
Pulomary fibrosis with VC or TLC < 60% predicted, baseline PaO2
< 55mmHg, or secondary pulmonary hypertension; mprimary
pulmonary hypertension with NYHA class Ill or IV heart failure,
right atrial pressure > 10mmHg, or mean pulmonary arterial

Does patient meet
one of the above

general exclusions? {
section 15.6

YES » Do not transfuse.
Re-assess as per

NO

.

Specific Exclusion Criteria based on clinical factors specific
to patient populations (see section 15.3):

. Trauma

. Ruptured Abdominal Aortic Aneurysm

¢ ECMO/VAD

. Heart/Lung Liver Transplantation
. Gastroenterology (Gl Bleed)

. Obstetrical Bleed

. Other

Go to
page 2
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